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01. (A) .-. .-. =3+3=6
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3090 Option (B) : Rectangle =
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03. (B) Option(A):4>3<6
Option (B): 2<3<5 Option (D) : Square =

Option (C):5>3>4 -

Option (D) :2<4<6 07. (D) = (! : )
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GENERAL SCIENCE

We get oil from the seeds of sunflower.
Carrot is the root part of the plant.

Lion kills other animals for their food.

Creepers grow along the ground and
have heavy fruits like watermelon,

Fish and ant are living things.

Frog can live both on land and in water.
A car is a non-living thing.
Watermelon has many seeds in it.

Trees can grow and reproduce, but it
cannot move from one place to other.

Option (B) is bathroom.

The instrument is stethoscope. It helps
Option (B) shows zebra crossing.

Sweater is made by knitting, using
woollen fibre that we get from the fleece

We get wood from trees that were once

The picture in option (D) shows summer

Nose helps us to smell the fragrance of

Ox is seen in the farms.
Igloos are made of snow blocks.

Mango has only one seed.

Lion lives in Den, Dog in kennel, Horse
in stable, Bird in nest.

We see things with eyes.

16. (C)
08. (D)
17. (B)
18. (A)
19. (A)  Sunrises in east.
20. (B)
09. (A)
pumpkin etc.
21. (B)
22. (D)
10. (C) 23. (A)
24. (C)
5| ©| 4| % )| E Y =0
1st | 2nd | 3rd | 4th | 5th | 6th | 7th | 8th | 9th | 10th
26. (B)
11. (A) 27. (C)
to hear heartbeat.
1 4 w 10 28. (B)
112|134 |5|6]|7 10 29. (C)
12. (B) Option (A):40+ 13 =53 (x) of sheep.
Option (B) : 92+ 7 =99 (v) 30. (B) It has many seeds.
Option (C): 62+ 5 =67 (x) 31. (B)
Option (D) : 10 + 47 = 57 (X) living.
13. (B) 5+ 3 =7 beads are required. 32. (D)
season.
33. (D) Fish live in water.
34. (B)
a flower.
35. (B)
36. (A)
37. (D)
14. (B) 12-4=8 38. (B) A-2,B-4,C-1,D-3
15. (C)
39. (B) Cow gives us milk.
) 1) 40. (B)
6th 5th 4th
The End
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